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 Praifer e Youer | ' o | [fvaserss siew: 30
Time allowed : Y2 Hour] ' ~ [Maximum Marks : 30

T : (i) W T A § o e g siw e
| Note : All Questions are .compulsory and each question is of I mark.
(ii) 3 qrra 7 s e ®Y Rafy & siiolt srar at A #

Only English version is valid in case of difference in both the languages.

1. WREPAMHI QAR Y ? 1.  What is the full form of PAM in
@ Wﬁﬁmﬁ@?ﬁ communication ?
®) WWW v | (a) Pulse Analog Modulation
©) T Teiees e (b) Pulse Amplitude Module
@ T : VN ~ (c) Pulse Amplitude Modulation

(d) Power Amplitude Modulation

2. P d /39 W aee oiwiy Higew 2.  Which of the following is digital

TWRHEE? . modulation technique ?
(@ PAM ®) PCM (@ PAM (b) PCM
¢ PWM (d PPM (c) PWM d) PPM
3.  According to vsampling theorem, what
3. Swien s % e, A s £, ~is the relation between f, .
q R Y ST el s st frequency to be transmitted and
f e ¥ S T TR Y ? | sampling frequency f, ?
@ £225, O =2, (@ f,2 2fm_ ® fi= memax
© £<2%,, @ f£<2A6 © f<2pn, @ f<2A

P.T.O.
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4.

Wﬁﬁaﬂ#@rtﬁwaﬂﬁw#
(a) ASK '(b) PSK.

() FSK )] QPSK
1§ @ R WA W e e
408 AT .

(a) PWM - (b) PAM

(c) PPM. .(d PCM
'aéqfsawmmﬁmﬁ

(a) ST Gl FRT T B time
slotmﬁmm%sl

Ab) ' TF B F FA-AHT Time slot

Homd RS Y |
(c) IITW-3TENT HT FCPI-STRT time
slot FHHA AT 1
(d) mmaﬁammmﬁr
- wmHwaE

a;ghfsa"gmnféiﬁﬁm%ifaﬁﬁﬁ

(a) mwﬁawé‘rﬁmaﬁ
FAE |

(b) ST HET FT-HETT mqf%r

WEEA AR E |
(c) -3 W 0 & U |
- gt Ea ¥ |
(d) UF Bd GR STERT-HHT Wi
dfasmaeE

et T T

R wlt t

o) sa wh @ weT Wb §

uitafore w5t Ao § |

(b) AT WA W W G A

NefaFF TRE |
(c) T Hba @ faen ofafo Red
o€l

© (@) SWEmEH R E

@

Which one: of the following"
modulation  technique is most
affected by noise ? '
(a) ASK
(c) FSK

(b) PSK
(d) QPSK

On which of the following, effect of
noise is minimum ?
(a) PWM
(c) PPM.

(b) PAM
(d PCM

On the diVision multiplexing
(2) Different sources use one time
slot

~ (b) One source uses different time

slots
(c) Different sources use different
time slots

(d) Different sources use dlfferent
ﬁequencxes

Wluch is true for frequency d1V1s1on‘
multlplexmg ?
(a) Different
transmitter
(b) Different frequency ranges used
by different sources ,.
(c) Different sources transmit from
~ one transmitter simultaneously -

sources use.: one

(d) One source uses dnfferent
transmitters

Which is true for digital

communication ? -

(@) Digital signal is converted into
analog and sent

(b) Analog singal is canverted into
digital and sent

(c) Analog signal is sent without
any change
(d) All options are correct



9.

10.

11.

12,.

). ASK® QUMY |

(a) Angle Shift Keying

(b) Analog Shift Keymg
(c) Amplitude Shift Keying
(d) Anti Shift Keying

TDM % fd # w1 Preq it 4 2

(a) W HEHwE W |
(b) O AT Yt v T
() W Hight aEw E |

) SWwhTTRETaTRE |

Prer it g R W 2
(a) FWETIAT

(b)) wEETE

© P

. i . - |

g R i Rt

(a) FrzRwrE

i (b)  AERAETE

e

r = 2B WA/AFVE TE B = Nyquist &

TR

(a) 6.4 B fzRwrE
(b) 3.2 B fazawmre

(©) 1.6 B fzRwrs

14,

(d) 3.4 Bfwzawe

i firgm e o sra BT b @ we A
YO T e X2

(@ 1 B o
© © @ -1

‘o

10.

11.

12.

13.

14.

2142

- -What is the full form of ASK ? -

(@ Angle Shift Keying

(b) Analog Shift Keying
(c) Amplitude Shift Keying
(d) Anti Shift Keying

Which is true for TDM ?

(a) There is no cross talk in it.

(b) It does not require
synchronization.

(¢) It requires modulator.:~ - -

(d) -Signals mixes-at one time., .

What is called information oit of
these ?. -

(@) Unprocessed data

(b) Compressed data - -
{c) Distorted data
(d) Processed and grouped data

What is the uhit of entropy in
information theory ? v

(a) Bit/second

(b) Byte/second

(c) Bit/message

{(d) Byte/message

If entropy = 3.2 bit/message and
message rate r = 2B message /second
where B = Nyquist rate in hertz, then
average information value is

{a) 6.4 B bit/second

(b) 3.2 B bit/second

{¢) 1.6 B bit/second

(d) 3.4 B bit/second

Sun sets in west direction what is

information amount in this event ?

@ 1 ()

) 0 @ -1
' P.T.0.
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15. Pt e ¥ wiem @ A T wWEAIT
Pt srrfivepent & e € :
P_lp_lphlp-l
1T 2% @ 16 T4 = 32
P,=P,= 614
wm#@mﬁmw
@ = ® =
© 3 .‘(_d).'%

16. ﬁwﬁﬁmxmaﬁ#mmaﬁﬁw
wm%? '

(a) - itfeer Sfm
(b) T

() Fitgem
(d) e AT

17. FAxﬁCISWt{nmw%?
(a) Constant Image Sensor
(b) Clear Image System
(c) Compressed Image System
{(d) Constant Integrated System

18. Feelt el ot & Refen =t #i9
o Rl P o @ B STt & 0
(a) woaw fafy
(b) A¥DFEX
(©) DRAFTAN
@ QR

19. P @ A o feary go =t @ &
fp dda g ¥ 2
(a) ™ wuee feardy
(b) e was feadE
©) weirR waee feamy
@ e v Ry

@

15.

16.

17.

18.

19.

2142

There are six probabilities of event’

occurring as following :

1 1 1 1 .
Pi=4P=gPh=16P=3
P =P6'=-6-147 |
Calcvlate the entropy of system :

48 : 46
@ 32 ® 32

47 32
© 33 - @ 7

Which workout of these is not
performed by FAX ?

(a) Optical scanning

(b) Modulation

(c) - Demodulation

(d) Multiplexing

What is full name of CIS in FAX ?
(a) Constant Image Sensor

(b)- Clear Image System

{c) Compressed Image System
(d) ~ Constant Integrated System

Which recording method is used in

_ facsimile receiver ?

(a) - Direct method A
(d) A toDConverter
(c) Dto A Converter
(d) None of the above

Which device converts image of page
into electrical signal ?

(a) Charge Coupled Device

(b) Charge Convert Device

(c) Clear Coupled Device

(d) Charge Compressed Device
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20.

21.

22.

23.

25.

FAX it 3 = g S & we wE
¥ P Forer & & = sravEs w2

- () e

) o T
() Seard 7 sheté = WA S

@) - Hge

GEO Reméc § GEO FM G WM& 2

(@) General Earth Orbit

(b) General Equal Orbit
(c) Geostationary Ea.rth Ol‘blt :
(d) Geographical Equal Ol'hlt

o QB 'ﬂ"f Multiple Aocess: ﬁ'ﬂv‘*ﬁ‘ﬂ?
FwE?

(a) FDMA - (b) CDMA
(c) TDMA (d ADMA
GEO ﬂémz * g waw ﬂ auamﬁa
Hard Rea et € 2

@ 36K (b) 3.6K P
© 36K#HWR (@) 36KHeE

o F9R F A ¢ gl wt
T e ¥ 2

(@ 1¥4GHz () 4ﬁseﬂz
(c) 4¥6GHz (d) 2% 4 GHz

Dm»(s%z%‘.@.) ;m;um:rm%?

(a) Direct to House

(b) Direct to Hill

(c) Direct Transfer Home

(d) Direct to Home

2142

20, To receive data similar to original in

21.

22.

23.

-25.

' FAX receiver which is not essential ?
(a) Synchronization

(b) Phase similarity

(c) Height and width ratio same
(d) ‘Modulation technique

What is the full name' of GEO in
GEO satelhte ?

(a) 'General Earth Orblt -
(b) . General Equal Orbit

" (¢) Geostationary Earth Orbit ,

(d) Geographical Equal Orbit

Which is not Multiple Access
Technique out of these-? -

() FDMA (b) CcDMA
) TDMA - (d) ADMA

What is the approximate height of

GEO satellite from earth surface ? -
(@) 36Kkm ®) 3.6Kkm
(¢) 36Km (d 36Km

What is C frequency band range for
satellite communication ? -

(@ 1t04GHz (b) 4t0o8GHz
(c) 4t06GHz (d) 2to4 GHz

What is full form of DTH ?
(a) Direct to House
(b) Direct to Hill
(¢) Direct Transfer Home
(d) Direct to Home
P.T.O.

S



27.

28,

29,

30.

‘;;’.(a) PAM.

(a) Mobile Transfer Sw1tchmg Office
(b) | 'Moblle Time Switching Office
(c) Mobile Telephone Shift Office

d) . Moblle Telephone
Office * -« & # "« .

;ﬁqaﬂmmmﬁmm"* |

*» ST v"

(by PCM e
() Deka Modulation
@ PCM | o

(a) e S g

(by R Ja A

(c) 3wt sy wrege ST
(dy S et

Wtﬁmmmﬁ e g
e = o €, it

(@) m'ﬁmm%'
®) e ey |
() i sfrr T aw STt |

(d) v e A ¥

ﬂmﬁmmﬁﬁnmﬁrm
wm  oft it & -

(a) 30 MHz - 300 MHz
(b} 300 MHz ~ 3000 MHz
(c) 3GHz-30GHz
(dy Igdmy I W i

Switching

©

P

26.

28, L

29.

30.

hla . 2

_ _ 2142
What is the full name of MTSO in’

‘Mobile Communication ?

(@) Mobile Transfer Switching Office *
(b) Mobile Time Switching Office
(c) Mobile Telephone Shift Office

(d Mobile Telephone Switching
K Offiqgf .

Slope overload distortion occurs in
(a) PAM

(®) PCM .. _
(c) Delta Modulatlon

R v

metauons of conventional mobile

telephone are :
@ hmxted service capability

. ®)-- -poorservnce performance
© (c) . Inefficient frequency spectrum

(d All above

......

Fiéquency reuse technique is used in
a cellular mobile communication
because

(q)" ‘sound quality improves

® fnoxse reduces in sound

(c) signal travels more distance
(d)  spectrum capacity increases

In cellular telephone system
following frequency range is used

(a) 30 MHz - 300 MHz
(b) 300 MHz - 3000 MHz

() 3GHz-30GHz
(d) None of the above
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g v CYE I ) O TR S Ui RS e ML e
- EEEE N SRS S 2N SR S S PEUEN M A S ERN A

| ﬁmﬁnw w0 o : (vt mm
" Time allowed : Three Hours] ' [Maximuni'Mﬁrks'ﬂo

wr () mmaﬁmrm##wwarmm, 0
Note : Question No. i :scompulsory. answer any five questions from the remaimng

(ii) mmtwwaﬁmwmmzﬁm !
Solve all parts of a quesuon consecutively together.
(iii) qum#ww#mm/ , ‘
' Start each question on'a fresh page. J
(iv) ﬁ#w@ﬁmﬂ##m#mmﬂmt /

Only English version is valid in case of difference m both the languages

. @ mﬂmiammt?
What is uniform quantization ?
@) mmmmﬁmwmh
What do you mean by analog & digital communication ?
(i) qEF AE  vfoniivy AR 1
Define amount of information.
(iv) WRvRr 4 e 3 I e |
Write down the uses of facsimile wchnology
(v) e yoe % e Rl | - |
" Write down the components of cellular system. ' (2x5)
2, @ qunw;ammmmmm‘
" Draw & explain the working of earth station. k _ -
(i) mwmmﬁsuﬁtﬁﬁmwm(mmﬂmﬁﬁﬁml
Calculate SNR in dB for digital channel band width 3 kHz. : (6>x2)

3. (@) mﬁmamm.

Draw & explain the working of transpondet
(7) Pquo.



Enmsoa ®

(310

®

@

®
(ii)

WM?&WWWWWW [

Draw and explain the phasing of fax receiver.

e et =t e aeTERoT Wit e
Explain following codes with suitable examples :
(a) IETE
Baudot code
(b) ASCI 3=
ASCII code R
© vt
EBCDIC
TRfieer Srer Higer @ el w5 e Al 2R |
Draw and explain the working of adeptive delta modulation.

Qe AR womedt 3 Ry % Ryarerr P |

Discuss the concept of satellite communication system.

ST T e O S, wonel % i avie s |
Draw and explain FDM system for anolog signal processing.

Fort met it ot ot -
Define the following terms :

@
(i)
(i)

@iv)

@
(ii)

I i A

Zero memory source

QR

Information rate

e v sFaoer

Nyquist time interval
L)

Channel capacity

W g wt e-ERE S R SR |
Discuss the merits & demerits of pulse modulation.

Tl e 13 ¥ o Rramury

ﬁwﬁ#ﬁmﬁﬁwmﬁwﬁmﬁzﬁ:&

@®

(1))

(iid)

Write short notes on any two of the followings :
Rt ficram

Hag o

Photographic recording in FAX.
STE T

Satellite orbits

T IS ot

Hand off mechanism

T TS WONEA Y &7 Y o R |
For probable event 13, calculate the effic1ency of binary & decimal system.

2142

- (6x2)

(2x3)

©

(6x2)

(3x4)

©a)

(6>2)



